
 

www.xdmaths.com 

               ………………………………………………………………………………………..  

  :أ�
� ا��
�	�� ا������     
     ( )4 13− )   ؛  + ) ( )10 37+ + )   ؛  − )25 18− )   ؛  + )6,7 2+ )  ؛   − )8,3 0− )  ؛  + )5 5− +   

     ( )15,6 7,8− )  ؛   + )9,02 9,02+ )  ؛   − )0 1,4+ )  ؛   − ) ( )30 48,4− + )  ؛   + )1,7 7,1+ −     

               ………………………………………………………………………………………..  

     	�
  :�� ا������أ�
� ا��
     ( )2 5+ )  ؛   + ) ( )4 3− + )  ؛   − ) ( )15,8 4, 2− + )  ؛   − ) ( )9,5 12,7+ + )  ؛   + )0 10,9+ −  

     ( ) ( )7 54− + )  ؛   − )88,4 61,9− + )  ؛   − ) ( )47 3− + )  ؛   − ) ( )16 16− + )  ؛   − )3 3− + −     

               ………………………………………………………………………………………..  

  :أ�
� ا��
�	�� ا������     
     8 )   ؛    +3 )8 3+ 8   ؛    − 3− )   ؛    + )8 3− + 3  ؛    − 8− )   ؛   + )3 8− + )  ؛   − )3 8+ −   

               ………………………………………………………………………………………..  

  :أ��ــــــ�     
     5 ..... 2+ )  ؛  = )..... 8 14+ − 11  ؛   = ..... 26− + = .....   ؛   − 2,61 0+ 2 ؛   = ..... 2− + = −     

               ………………………………………………………………………………………..  

��� أو�� ��د�� ������  )1���
 .� ا��'�ل ا���!%�؛ أآ�� ��� −7#��"�� �!�ن 	
2(   ������
 .؛ آ� ه� ��د ا��'�ل ا���!%� −7أو�� ��د�� ������ 	/�'.- ا,+�رة �!�ن 	

………………………………………………………………………………………..             
  : ا������أ�
� ا�.2وق     
     6 )  ؛   −15 ) ( )24 16− − )  ؛   + ) ( )3 3− − 19  ؛   − 19− )  ؛   − )28 13− 0  ؛  − 5,33−   

     ( )0,94 2,51− − )  ؛   − )70,8 53,29− − 14  ؛   − 18,6  ؛   −33 0− )  ؛   − )5,9 5,9− − −     

               ………………………………………………………………………………………..  

     35a ,14 و  = 2b = − �
  :أ�

     b a−    ؛   ( )b a− )   ؛    − )a b− a   ؛    − b− )   ؛    − )b b− a ؛   − a− 31b  ؛    − a− +   

               ………………………………………………………………………………………..  

  :أ��ــــــ�     
     1 ..... 8− .....  ؛  = 9 4− = 27  ؛   − ..... 20− = )   ؛   − )..... 4,6 0− − 36 ؛   = ..... 10− − =     

               ………………………………………………………………………………………..  

  :ا�
�ول و45 ا����3ة ا������أ���    
        

  
  

  
 
 
 
 
  

               ………………………………………………………………………………………..  

     �
  : أ�

     ( )29 50 38A = − + + )    ؛     − ) ( )53 18 12B = + − + )    ؛     − ) ( )8 11 6 2C  = − + − − −   

     ( ) ( ) ( )87 95 87 39D = − + − + + + )    ؛     − ) ( )55 18 19 7E  = + − − −  

               ………………………………………………………………………………………..  

     �
  : ��ل إ�8 	
��ع �6 أ�
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ا���� وا���ح: � ا������ا�
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     3 14 8F = − )     ؛        + ) ( )7 3 5 2G = − − + + − )     ؛        − ) ( )19 23 17 21H = − − + − −  

     ( )27 45 58 27 58I = − − − − + )      ؛       − ) ( ) ( )55 79 48 30 92J = − + + − − + − −  

               ………………………………………………………………………………………..  

  
  
  

 .��� ا�%
�� �'�� أن ا��
��ع 5- آ= #>2 ; ��:�2أ   
 
  
 

 
               ………………………………………………………………………………………..  

  �
  .   أزل اAB�اس وا��?3��5ت �6 أ�
                   ( ) ( )16 159 207 92 207K = − − + )         ؛    − ) ( )36 58 12 58 10L = − + − − + −  

     ( ) ( )560 88 14 560 23 88M  = − − − + − − −   ؛         ( ) ( )9 13 18 9 15 13N  = − − − − −   

               ………………………………………………………………………………………..  

  4D�<إ�8 ا� E/+ =Fد     �?G�� -H�I6%��  ا�JD لKH �6 �?DرLD لKH �6 4Dا�M �6NID �?G5.  
 . هPا ا�E/R إ��Qأآ�� #'
'� ا�?�'��ت ا��- ���د ا�>�4D ا�Pي و�= )1
 	�ه� إذن هPا ا�>�4D ؟ )2
               ………………………………………………………………………………………..  


U ا��?�2�D ا������  D   .  
     ( ) ( )2 15 6P a a= − − + )              ؛                     − ) ( )8 70 73 8R a a= + − − − + −  

     ( ) ( )7 3 4S a b a b = − − + − − − −        ؛        ( ) ( )9 25U b a a b = − − − + − − −    

               ………………………………………………………………………………………..  

  VP�	N� =�� ���3��   2حM رس�	ا;20  Z#   ا��?�	ا����- U�3%ا��:  
- ����� �D��  ��%[ N6ث U3H �'8 آ= إ
 آ= إ��3H �G/��^M�F �D>��ن �'8  -
- �	�� 2�_ �D��  ��%[ 3H>� وا��ة �'8 آ= إ
  .2 5- ���� ��م  ا,���D �'8 ا�
Zال��%[ � -


� أ#^'� و�� �
� �'8 أر�� 2�_ Q�-5�?D	� � 6 -5����H أ#^'� وأ�6N6 -5 L<F وآ�bH إ��Dإ2Dاه��أ��ب �F   
    3H>� أو أآ302I أي  �'8 ا��?�ل ؟ه= �G= إ2Dاه�� )1
2(  ��?d8 أآ�� و'� =Gو� �'^#Bب �'8 آ= ا��  '��34�<3H��2Fe P أ

               ………………………………………………………………………………………..  

     a  وb g��D ن��"
H ��2نR� 17:  ��دانa b− = − .  
  :   أ�
� آ= �?"�2 	�� �'-  
     20a b+ 4  ؛    − 9b a− − )    ؛   + ) ( )5 12 1b a− − + )   ؛    − ) ( )2 16 8 19a b b+ − − − +   

               ………………………………………………………………………………………..  

  . B و  H   A?�"2 ا�?�د��   
     1 2 3 4 5 6 ................... 999 1000A = − + − + − + + −   
                1 2 3 4 5 6 ................... 999B = − + − + − + +  

1(  �
  Aأ�

�ب  )2� h�%�#إB   
               ………………………………………………………………………………………..  
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